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Shown is part of a regular polygon.
How many sides does it have?
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Shown is part of a regular polygon.
How many sides does it have?
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Find x

G

Find x

h is directly proportional to the square of
w.

Whenh =24, w=2.

Find the value of h when w = 4.

Sophie estimated that the distance between
Bristol and Newcastle is about

290 miles and that her average driving
speed would be 60 mph.

She estimated the distance to the nearest
10 miles and the speed to the nearest 10
mph.

Calculate the lower bound of the time the
journey should take.

Give your answer in hours and minutes.
Give your answer to the nearest minute.
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